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SH: 5SS
HE: AMBPINSY(FES)
Chel: FRIME BT D (cHel: ® @
SN C(BH) - NRAY - HES O] &k o8 Soe HlmE2
o JlEga 32,2803 * 280 9,039
o =YL (F=X2Y) 32,2803 * 50 1,614
o fREsII=E 32,2803 * 10 323
206 M=l 300 0 300
01 &l 300 0 300
0 HoIESE=2Z 2t 300
otlsg 2LAHA 150,350 140,540 9,810
201 Lpt3H| 97,190 83,060 14,130
01 At 2eld] 6,500 4,510 1,990
0 2d=+% 5,500
0 I=Hl 1,000
02 2224l 88,690 76,550 12,140
032223 % HA 28,400
0 ¢Z4l 10,090
0 A& & HI= Xl 7,800
0 XA 42,400
03 EAI2ZHI 2,000 2,000 0
0 ZSHALXE 2,000
202 O4dl 53,160 57,480 A4,320
01 =Wodl 7,800 7,800 0
0 22048l 600,000& * 12& 7,200
0 S&EE (bl 50,000& * 12& 600
02 AN 45,360 49,680 A4,320
0 8% AAMESEANLI
180,000& = 21 = 12& 45,360
Sts& At &l 141,200 181,200 A 40,000
FU=2AY 141,200 181,200 240,000
L2782 FO=SRAAMNG 141,200 181,200 A 40,000
401 Al 4Bl =204 141,200 181,200 40,000
01 Al&HI 140,000 180,000 A 40,000
0 SL(EHB)s2EE S AHL=220m) 20,000
0 S (ZESM) =2 L& B AHL=250m) 20,000




SA

m A2l
= A e
CHEB L CRI(E) - NRAY - BAS Ak e 2
I B =2 243 AH(L=25m) 20,000
StSSAI LRI B HI S AH(14]) 20,000
S2& (=32 )THEE S AHL=150m) 20,000
HEOIE2s2 E &S AHL=200m) 20,000
SA(SE)s2 3 AHL=200m) 20,000
INE=Reis 1] 1,200 1,200 0
AR RFUSJAAY AIZ20UY] 1,200
e HI(otSS) 61,886 60,258 1,628
Bl (3t=SS) 29,086 27,524 1,562
A2l (ots3) 29,086 27,524 1,562
ol 24| 17,446 16,404 1,042
SIHAZZRE > 17,446 16,404 1,042
HAr2el (19) 17,446
o JlEZa 30,9003 » 300 9,270
o &=z 9,270,000 * 4/12 3,090
o FHEUSL(FI2Y) 30,9004 * 52¢ 1,607
o AXReSFII=+E 30,900& * 15 464
o 2HIAZ(5E014)
9,270,000& * 10/100 927
o Nz 2ead
5,800% * 30AI2F » 123 2,088
=& 11,640 11,120 520
J22IHARFAH| 6,600 6,000 600
=Ky 6,600
A HRFAH| 840 920 A80
A2 A RE 40,0004 » 219H 840
FH2IHRFEY 4,200 4,200 0
FAEE 350,000& * 12& 4,200
(ats8) 32,800 32,734 66
BI(3t=S) 32,800 32,734 66
2Bt 32,800 32,734 66
AtS 2tel | 32,800 32,734 66
2 Bt=ZH| 18,900
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